1. KanenpapHslii yueOHblii rpaduk

K CeHTA6Gpb |29 | OkTAGPL |27 Hos6pb Oekabpb (29| SHBapb |26 | ®eBpansb |23 Mapt 30| Anpenb (27 Mai UoHb 29| Wwne |27 Asryct Bcero |Oksa| [MpakTtuka (Hep) lFocy | Ka Bce
Y | 1[8]15[22]IX| 6 [13[20| X | 3 |10(17[24| 1|8 [15(22(XI[ 5 |12 (19| | |2 [9|16| |2 |9 |16|23(lI| 6 |13|20(IV| 4 [11|18|25( 1| 8 |15(22|VI| 6 |13[20|VII| 3 [10[17|24]| He- | u4a- |MeH.| y4eb | mpo | npen (mapcT| Hn ro
P 5 2 4 1 1 5 3 5 2 ne | coB |cec-| Haa | u3e- | aun | uTor. Ky Heq
C |7 ]14[21]28] X [12[19]|26|XII| 9 [16[23]|30| 7 [14]|21|28| | | 11| 18 |25]| Il | 8 [15|22| | 8 |15|22[29|IV|12[19[26]| V [ 10| 17| 24 [31| 7 | 14[21]|28|VII[12{19]|26|VII| 9 |16]|23|31| nb cus afd |[nomH| atT. | 5Bl | enb
| 17 Hep,. =] = 23 Hep. S =(=]=|=|=[=|=|=[=]40]|1440| 1 11 52
[ 16 Hea. sl=|= 20 Hea. O|0|O|:|=|=|=|=|=[=[=|=|=]|36|1208] 2 | 3 11 | 52
i 16 Hen. sl=]= 17 Hea. 0[|0|0 =1 8(8|8(8|=]=|=|=|=|=|=[=|33|1188] 2 | 3 | 4 10 | 52
v 17 Hep. =] =[0]O|O[ =|8[8][8]8]8][8]8[8[8][8 X[ XXX mifmimmimn 176122 1| 3 [ 10| 4] 6| 2 |4
Wroro: 126 | 4536 | 6 9 14 4 6 34 | 199
TeopeTuyeckoe YyebHan MpakTuka MpeaaunnomHaa lMpomexyTouHas Kanukyne! lFocynapcTeBeHHas
obyueHue npakTuka no npodunio npakTuka aTTectaumsa uTorosas
cneuuanbHOCTU aTTecTauus
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